1. Find the vector equation of the line 2x+ 3y — I in R2.
Pot oa line = (-1, 1)
Direckon  of Liar - (-2,2)
= T veds eq” Slt) = (~1,4) + £ (-3.2).

2. Find the vector equation of the line of intersection of the planes in R?® given by
x+y—z=—1 and x+2y—2z=1
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3. Show that every point (x, y,z} on the line in R? with vector equation r(f) = b+ ra satisfies

x-b1 _ x—bg _x—b3
a az as

as long as aj,ay,a3 # 0. This is called the symmetric form of the line.
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4. Sketch the curve in R? parametrised by r(f) = (cos(z), sin(t))
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5. Sketch the curve in R? parametrised by r(t) = (fcost,tsint) fort > 0.
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